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ECONOMICS

( Honours Core )
Paper : ECO-HC-4036

( Introductory Econometrics )

Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
for the questions

1. Answer the following questions : 1x10=10
©oT 2P s i
(a) Write the formula for normal
distribution.
M41eT o999 SJ4con e |

(b) Which test is used to test the association
of attributes?

PR il AR R & o[ 9ER 9
277
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(2)

() What is ordinal scale?
FIEE T 9

(d) Define coefficient of determination,
P TR SeEy o |

e/ What does E(u;)=0 mean for random
term in a regression line?

i G OO MieE  “fRemr AR
E(u;)=0 9 & 5pr2

(7 What is type-I error?
Type-1 &6 & 9

(9) Define confidence interval,
SO ST ey fiay |

(h) What is multicollinearity?
2T 9

(i) When does heteroscedasticity arise?

ﬁwﬁwwﬁmma?

() What is the difference of Binomial and
Poisson distribution about mean and
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(3)

2. Answer the following questions : 2x5=10

o oppTyRd e il -

(a) Write two properties of F-test.
F-oiRrme o1 e for o

(b) What are the two uses of t-test?
¢- oA 701 TR ford |

(c) When does binomial distribution tend to
normal distribution?
e et @l TR oo «fRe
20?

@) Distinguish between one-tailed test and
two-tailed test.
G-GERRE WF R-CERMAE AAFR TES
oqnef< forT |

(e) Write the full form of BLUE.
BLUER # SIRP=e6T o |

3. Answer any four of the following questions :
5x4=20

e epprped R e wifRoe e i

(a) Define power of a test. What are the
various steps of hypothesis testing?

ﬁw«mﬁﬂwﬁmmﬁw«ﬁﬁﬁ
FIEHA o |
( Turn Over )
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(4)

(b) Write a short note on forecasting,

P a1 oft vy Gy gy |

(c) The life of an electric bulb for a random
sample of 10 from g large consignment

gave the following data -
Item :123456789

Life 246 4 39 54 4.9 3.9 3 44 56
(in 000 hours)

Can we accept the hypothesis that the
average lifetime of bulbs jg 4000 hours?

qﬁlﬁiﬁ@@?ﬁﬁiﬁquW‘
mloﬁwﬁwwqucw
5e

F o RN s 9
BT 46 4 39 54 42 38 3 44 56
(*000 ¥%re)

Wﬂ@@awmoowiﬁaﬁa’z
#ICCT 2 *4Rwp7 <ay |

(d) Explain the differences between auto-
correlation and multicollinearity.

TR HE RIS M1=f<5y
TS 4 |
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(S)

(e) Explain the method of measuring the
goodness of fit in a multiple regression
model.

T2 TR SRR Te @l P TR ARSCO!
T 4

() How can the inclusion of irrelevant
variable create problem in regression

analysis? Discuss.

PR ResTe  WePERe  bAed SEeec
@CERCR ST B IR AT, Ao 1

4. Answer the following questions : 10x4=40

wod 2P Tad fra

(a) In a two-variable linear regression model
Y, =a +pX; +u,, where @ and B are
parameters and u, is stochastic term,
find the mean and variances of & and f,

where & and p are estimates of o and f3. 10
Y, = +BX; +uy 901 fB-ve (AR TR
s, 7' o T B 2A6e =W W uy Fo A,
&wéawwmq%ﬁmn’aawé
2% o, W BT A |

Or / 9[1

Explain the methods of detecting multi-
collinearity. How can the problem of

multicollinearity be solved? 6+4=10
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(b) From the following table, find the
coefficient of determination of the

regression line ¥ =a+bX +y - 10
O ORI o[ S RO e
WﬁﬂWY:a+bX+uqq
Y 10 18 16 20 26
X 10 20 30 40 50
Or / g3y

Explain different types of hypothesis.
What are the propemes of

F‘distl-ibution? A Survey Of 240 famﬂies

with 4 children €ach  revealeq the
following distribution, .

No. of boys : 4 3 2 1 0
No. of families : 10§55 o5 58 12
Is the result consistent With  the
hypothesis that male and femaje births

are equally probable?

(Given that Plxy >a)=0.05, where x2

follows Chi-square distribution Wwith n q.f
and a =781, 9:49, ] 1-07 when n=3 4 5
respectively)
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(7))

oped Rfen gRRER I P F-Rear
hﬁi}mﬁﬁ?mocﬁmﬁﬂwﬁmwm

Wwﬁm«mﬁﬁwcoﬂmﬂ’a:

g 0+ 4 3 2 10

wfg@g 7w ¢ 10 55 105 58 12
mewwwmmﬁr

Hfee = ?
(fm @' P(x2 >a)=005, T® 2 T

Chigsf Red n Tog @ o WF
4=7-81, 9-49, 11:07 ¥ n T 3, 4, 5)

() Explain the consequences of auto-
correlation on OLS estimation. How can

autocorrelation be corrected? 4+6=10
OLS SIFeTo -] Tl
<41 | % TP (PCTHCI wireqr iR ?

Or / @[l
A random sample of 5 families yields the
following data :

Family A B ¢ D E
Savings (S) ('000) : 6 12 10" 7 3
Income (Y) (’000) 8 10 9 6 6

SN OIARIS] g g

No. of children(N) :

Estimate the regression line of Son Y

and N.

10
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(8)

el 561 SRAER ¥ (S), wE (V) S

R R (N) SR ~[1 AoeFed Y& NT
ST ST IR @ Sfepea -

Af37rET A VB €' B E
AEF(S) (000) : 6 12 10 7 3
S (V) ('000) 8 10 9 6 6
TEAT ARIM(N) : 5 2 1 3 4

(d) Explain the concept of errors in variable
in OLS estimation. Briefly explain various
methods to solve the problem of errors in
variable in such estimation. 4+6=10

* 4 A
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